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So, welcome students. This video, we are going to look at a problem called Burger's equation.
This will actually give you an idea about the Rankine-Hugoniot condition and weak

solutions.

434



(Refer Slide Time: 05:36)

¢+ 4 ¢ 90T O ® 6 < 0 ¢

Dyuded thav. QWA dre oo bﬁ Xz ¢+ o
ot Lolihon By UK x-w).

- ‘vl
fov w0, §r)=d 9 prguted Char Xoh4Y 540
o (70, $0)=0 3 Yaga)w Choy .
J Wo don'y have &y continwons Solukion ofy

Yer. v70

o , ¥, A1)
L ! Z(’ol‘)“} me): fy
s 0 > e O

- -+

Find e ooy x= 50) ¥ % Ebh
W tondttion - LF]) = ¢ [v]

5 £(uw) ,s;[vr)’_ F 3 ¢:‘/1

-

wh- W

¢+ 4

& 02

Consvrvakion, Law o-

u\.'fuug =0 3 'c,7/0r"5rl "]’@

W(xi0) = ?({)
4, x40°
e r%m:{[), x70-

D iy, T do D o) (0. §d) & 0
T;m:nb Pawarrv)ﬁg ke N’ﬂrrd e bna« G r(g)_ o
Fre v10) Cnay- BA 4% %\\w b\a f(*d‘-:ﬂ(ﬁ(m)r‘ﬂ‘r&‘)) 0

Wi=2 5 x(r0) =Y B
}of(hs') = ‘ o {;((,o’) =0

'-Z"[HS) e () '7 't[ﬁﬂ-) "C?(ﬂ‘

435



(Refer Slide Time: 19:51)

< + 9 U 90 B8 T 0O ® O < 0 ¢
T o
& 100%
iy, -
MGO W want oWt Owiy h pn 'WWDVJLV tht; @ ﬁm 1
N =Y
N 2 ’, X'l‘b
Nf\-‘;(:s(w iLN )'MMM(AI Wl \f«"//r’_ ~ — -
7 ’ I
BRI R BRI (e
- ‘/\ -~
lukioy s l-"wb }
oy weol Aolation is QR E 4

g4 xaty
\L[kd:) = 0 : X 76/2_

" osve
ol foliion on @ash ol %

0 )yis Chmi

o Tn, polkion ® bounded

436



¢ + 4 T L —

Py thar. s e qin B x= gl +1-
ond fhe Goluhom by H(xk)= p(x-ub). -

Fov w0, §r)=d 9 prgetd Lhav K= b4Y sr<l i B
o (70, $0)=0 3 i(ﬂgu}to' Chay. X=v5 ¥70 )
S Wo don'y have &y continvous Solukion of o, ":": r, :
thy ?‘D\dum- ’ | . y
S Wo lool Jov weak Aolution: z(r:.;)-, Z{n) :qrzw P)

= ut=0
Fod e aneo x= 50) ¥ % iy

R-H (ondt¥ion = RIOAER [u3
o A0 _gg sl

-

w K

437



(Refer Slide Time: 23:57)

SO €)

Frai- u%uu:d/ 7
7 B ‘f(“@

W) = ) 4
X o AL
- el (
- (W) 30/ x40’
: N V)t'fv % “x

Poajuhed Char G2 e o # ﬁ
‘k YU) 7 Yz

; T

D, X= ul

s Y 7P e g (T O ¢

. Ch- oty
<l Rywe don'y haw, W) WW

g s o b2 "
i T
pe bow B ol WF R

Now, we are exploring more on this Burger's equation. So, essentially, let us take another

example and see that, how to deal with this sort of problems.
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And moreover, you see, u 2 which you are getting is a continuous function, u2 is a continuous
function, this where is u2, this is a continuous function and you can say that this satisfies the
entropic condition and hence this is a physically relevant condition and an acceptable

condition. So, with this, we are going to end this part.
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